

# VIDYA BHAWAN BALIKA VIDYA PITH

शक्तिउत्थानआश्रमलखीसरायबिहार

Class- 12. Sub-.Maths

Date 04.07.2021

11.

$$\int \sqrt{\frac{a+x}{a-x}}$$

Solution:

$$\begin{aligned}
 \text{Let, } I &= \int \sqrt{\frac{a+x}{a-x}} dx \\
 &= \int \sqrt{\frac{a+x}{a-x} \times \frac{a+x}{a+x}} dx = \int \frac{a+x}{\sqrt{(a-x)(a+x)}} dx \\
 &= \int \frac{a+x}{\sqrt{a^2-x^2}} dx = \int \frac{a}{\sqrt{a^2-x^2}} dx + \int \frac{x}{\sqrt{a^2-x^2}} dx
 \end{aligned}$$

Let's consider,  $I = I_1 + I_2$

$$\text{Now, } I_1 = \int \frac{a}{\sqrt{a^2-x^2}} dx = a \cdot \sin^{-1} \frac{x}{a} + C_1$$

$$\text{And, } I_2 = \int \frac{x}{\sqrt{a^2-x^2}} dx$$

Putting,  $a^2 - x^2 = t \Rightarrow -2x dx = dt$

$$x dx = \frac{dt}{-2}$$

$$\text{Hence, } I_2 = -\frac{1}{2} \int \frac{dt}{\sqrt{t}} = -\frac{1}{2} \times 2\sqrt{t} = -\sqrt{a^2-x^2} + C_2$$

As,  $I = I_1 + I_2$

$$= a \sin^{-1} \frac{x}{a} + C_1 - \sqrt{a^2-x^2} + C_2$$

$$\therefore I = a \sin^{-1} \frac{x}{a} - \sqrt{a^2-x^2} + (C_1 + C_2)$$

$$\text{Therefore, } I = a \sin^{-1} \frac{x}{a} - \sqrt{a^2-x^2} + C \quad [C = C_1 + C_2]$$

$$\begin{aligned}
 \text{Let, } I &= \int \sqrt{\frac{a+x}{a-x}} dx \\
 &= \int \sqrt{\frac{a+x}{a-x} \times \frac{a+x}{a+x}} dx = \int \frac{a+x}{\sqrt{(a-x)(a+x)}} dx \\
 &= \int \frac{a+x}{\sqrt{a^2-x^2}} dx = \int \frac{a}{\sqrt{a^2-x^2}} dx + \int \frac{x}{\sqrt{a^2-x^2}} dx
 \end{aligned}$$

Let's consider,  $I = I_1 + I_2$

$$\text{Now, } I_1 = \int \frac{a}{\sqrt{a^2-x^2}} dx = a \cdot \sin^{-1} \frac{x}{a} + C_1$$

$$\text{And, } I_2 = \int \frac{x}{\sqrt{a^2-x^2}} dx$$

Putting,  $a^2 - x^2 = t \Rightarrow -2x dx = dt$

$$x dx = \frac{dt}{-2}$$

$$\text{Hence, } I_2 = -\frac{1}{2} \int \frac{dt}{\sqrt{t}} = -\frac{1}{2} \times 2\sqrt{t} = -\sqrt{a^2-x^2} + C_2$$

As,  $I = I_1 + I_2$

$$= a \sin^{-1} \frac{x}{a} + C_1 - \sqrt{a^2-x^2} + C_2$$

$$\therefore I = a \sin^{-1} \frac{x}{a} - \sqrt{a^2-x^2} + (C_1 + C_2)$$

$$\text{Therefore, } I = a \sin^{-1} \frac{x}{a} - \sqrt{a^2-x^2} + C \quad [C = C_1 + C_2]$$

12.

$$\int \frac{x^{\frac{1}{2}}}{1+x^{\frac{3}{4}}} dx \quad (\text{Hint : Put } x = z^4)$$

Solution:

$$\text{Let, } I = \int \frac{x^{1/2}}{1+x^{3/4}} dx$$

$$\text{Putting, } x = t^4 \Rightarrow dx = 4t^3 dt$$

$$= \int \frac{t^2 \cdot 4t^3}{1+t^3} dt = 4 \int \frac{t^5}{1+t^3} dt$$

$$= 4 \int \left( t^2 - \frac{t^2}{t^3+1} \right) dt = 4 \int t^2 dt - 4 \int \frac{t^2}{t^3+1} dt$$

Let's consider,  $I = I_1 - I_2$

$$\text{Now, } I_1 = 4 \int t^2 dt = 4 \cdot \frac{t^3}{3} + C_1 = \frac{4}{3} x^{3/4} + C_1$$

$$I_2 = 4 \int \frac{t^2}{t^3+1} dt$$

$$\text{Putting, } t^3 + 1 = z \Rightarrow 3t^2 dt = dz$$

$$t^2 dt = \frac{1}{3} dz$$

$$\text{So, } I_2 = \frac{4}{3} \int \frac{dz}{z} = \frac{4}{3} \log |z| + C_2 = \frac{4}{3} \log |t^3 + 1| + C_2$$

$$= \frac{4}{3} \log |(x)^{3/4} + 1| + C_2$$

$$\text{As, } I = I_1 - I_2$$

$$= \frac{4}{3} x^{3/4} + C_1 - \frac{4}{3} \log |(x)^{3/4} + 1| - C_2$$

$$= \frac{4}{3} [x^{3/4} - \log |(x)^{3/4} + 1|] + C_1 - C_2$$

$$\text{Therefore, } I = \frac{4}{3} [x^{3/4} - \log |(x)^{3/4} + 1|] + C \quad [\because C = C_1 - C_2]$$

$$\begin{array}{r} t^3 + 1 \Big) t^5 \quad \left( t^2 \right. \\ \underline{(-) \quad (-)} \\ -t^2 \end{array}$$

13.

$$\int \frac{\sqrt{1+x^2}}{x^4} dx$$

**Solution:**

$$\begin{aligned} \text{Let, } I &= \int \frac{\sqrt{1+x^2}}{x^4} dx \\ &= \int \sqrt{\frac{1+x^2}{x^2}} \cdot \frac{1}{x^3} dx = \int \sqrt{\frac{1}{x^2} + 1} \cdot \frac{1}{x^3} dx \end{aligned}$$

$$\text{Taking, } \frac{1}{x^2} + 1 = t^2$$

$$\text{So, } \frac{-2}{x^3} dx = 2t dt \Rightarrow \frac{dx}{x^3} = -t dt$$

$$\therefore I = \int t(-t dt) = -\int t^2 dt = -\frac{1}{3}t^3 + C$$

$$\text{Therefore, } I = -\frac{1}{3}\left(\frac{1}{x^2} + 1\right)^{3/2} + C$$

14.

$$\int \frac{dx}{\sqrt{16-9x^2}}$$

**Solution:**

$$\begin{aligned}
\text{Let, } I &= \int \frac{dx}{\sqrt{16 - 9x^2}} \\
&= \frac{1}{3} \int \frac{dx}{\sqrt{\frac{16}{9} - x^2}} = \frac{1}{3} \int \frac{dx}{\sqrt{\left(\frac{4}{3}\right)^2 - x^2}} \\
&= \frac{1}{3} \sin^{-1} \frac{x}{4/3} + C \quad \left[ \because \int \frac{dx}{\sqrt{a^2 - x^2}} = \sin^{-1} \frac{x}{a} + C \right] \\
&= \frac{1}{3} \sin^{-1} \frac{3x}{4} + C
\end{aligned}$$

Therefore,  $I = \frac{1}{3} \sin^{-1} \frac{3x}{4} + C.$

15.

$$\int \frac{dt}{\sqrt{3t - 2t^2}}$$

**Solution:**

$$\begin{aligned}
\text{Let, } I &= \int \frac{dt}{\sqrt{3t - 2t^2}} = \int \frac{dt}{\sqrt{-2\left(t^2 - \frac{3}{2}t\right)}} \\
&= \frac{1}{\sqrt{2}} \int \frac{dt}{\sqrt{-\left(t^2 - \frac{3}{2}t + \frac{9}{16} - \frac{9}{16}\right)}} \quad \text{[Making perfect square]} \\
&= \frac{1}{\sqrt{2}} \int \frac{dt}{\sqrt{-\left[\left(t - \frac{3}{4}\right)^2 - \frac{9}{16}\right]}} = \frac{1}{\sqrt{2}} \int \frac{dt}{\sqrt{\frac{9}{16} - \left(t - \frac{3}{4}\right)^2}} \\
&= \frac{1}{\sqrt{2}} \int \frac{dt}{\sqrt{\left(\frac{3}{4}\right)^2 - \left(t - \frac{3}{4}\right)^2}} = \frac{1}{\sqrt{2}} \cdot \sin^{-1} \frac{t - \frac{3}{4}}{\frac{3}{4}} + C \\
&= \frac{1}{\sqrt{2}} \sin^{-1} \frac{4t - 3}{3} + C
\end{aligned}$$

Therefore,  $I = \frac{1}{\sqrt{2}} \sin^{-1} \left( \frac{4t - 3}{3} \right) + C.$



$$\begin{aligned}
\text{Let, } I &= \int \frac{dt}{\sqrt{3t - 2t^2}} = \int \frac{dt}{\sqrt{-2\left(t^2 - \frac{3}{2}t\right)}} \\
&= \frac{1}{\sqrt{2}} \int \frac{dt}{\sqrt{-\left(t^2 - \frac{3}{2}t + \frac{9}{16} - \frac{9}{16}\right)}} \quad \text{[Making perfect square]} \\
&= \frac{1}{\sqrt{2}} \int \frac{dt}{\sqrt{-\left[\left(t - \frac{3}{4}\right)^2 - \frac{9}{16}\right]}} = \frac{1}{\sqrt{2}} \int \frac{dt}{\sqrt{\frac{9}{16} - \left(t - \frac{3}{4}\right)^2}} \\
&= \frac{1}{\sqrt{2}} \int \frac{dt}{\sqrt{\left(\frac{3}{4}\right)^2 - \left(t - \frac{3}{4}\right)^2}} = \frac{1}{\sqrt{2}} \cdot \sin^{-1} \frac{t - \frac{3}{4}}{\frac{3}{4}} + C \\
&= \frac{1}{\sqrt{2}} \sin^{-1} \frac{4t - 3}{3} + C
\end{aligned}$$

$$\text{Therefore, } I = \frac{1}{\sqrt{2}} \sin^{-1} \left( \frac{4t - 3}{3} \right) + C.$$